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89 hnnh hwpyh dwutuwyh thnfuhwnnigdwu 2 800,0|yunwdunnpuit 2 800,0
uywwwyny Upghuw hwdwjuph puwlysnipjwup 02.07.2015p. N 766-L
whnwlwu wowygnipjwu gniguptipnud npngntd
Updwyhpp Ywpyunwhwpqws Upghuw hwdwjuph :C Whmw{;wu prin‘lgg‘(&m

pwinwwy dpwighp

% nnngdwu oph qupsh thnfjuhwnnigdwu hwdwp 15 1000 |yunuupnipyu 15100,0
whnwywu wowygnipjwu gnigwpbipnud («Ckuhy» 02.07.2015p. N 766-L
200, «fdwihu» 20L) npnanwd
Updwyhph hwdwjuph funppwyhtu hnptiph nnngdwu §< mhlianwu ptjjmgh‘ <«

wnwywpnipjw

91 |yndwbph ogunwagnpdwd Lithwnpwtutinghwih 4 400,0 01.10.2015p. N 11621 4 400,0
wnpdtiph thnfuhwwnnignud npnonud
YwpYunwhwpnipjwu htinbwupny nnidwsd dwnpgh
hwdwjuputiph hnnh hwpy yéwnpnn, nnngqdwu gnip <L whinwlw pjngl’ &
ogwwagnnpdénn, huswtiu uwl gbpdwwnuwhu Yunwywpnipjwu

92
tbnbunyeyniilbnh ubthulubuntn hutighuwgnn 94172.103 12 2015p. N 14281 941721
$hahywlywu b hpwywpwiwlywu wudwug nnpnanu
whnwywu wowygnipniu gnigwpbipnid
Cunwdbup’ wtp.pinigh (ubithwlwity) 714 229,0 714 229,0 0,0 536 305,8 -177 923,2

Lpuyht pppGunipywt whpwlw Yndhpb 0,0
«Mnnqdwit hwdwlwpqbph pupbjuynid» 0.0
dpwghp '
Punpwdiwt-Unpwlbinn huptwhny hwiwYwpgh Chuuwpuipulu

o dJ U U . 2 y " 266 500,0 266 500,0 0,0 <wdwafuwphwht puity -266 500,0 |wohuwinwtptitinh
Ywnnigdwu uwfuwgh ulhqep' 2016p-ht
Utidwunp ophwu Yuywuh Swudnun-wdgint b

94 |NTwpwnuwiw htnwgunn spwugputiph 374 400,0 374 400,0 785,4|<wdwoluwphwihu pwuy -373 614,6 |owpniuwlulywu
Ybpwlwugudwt ghuwpwpwywu woluwwnwupubp
Cunwdbup’ wtp.pynigh (Juipluyhtr) 640 900,0 640 900,0 0,0 785,4 -640 114,6




Cunwdbup® wEnwlwl pjnigh 1355 129,0 1355 129,0 0,0 537 091,2 -818 037,8
Rpuyht ppipGunypyuitn wpwlw Yndhp b 0,0
Uwpgnud funppwjhtu hnptiph hnpwwnnid P Sl
95 |(Gpwutuwhniun' 3, Ungupwinnid' 2, 80 000,0 0,0 wfwfm‘ﬁﬁ;{”“ L 0,0
Qphpnitinnynud* 2)
<nywnwdtig, Uwdwnuip,
2ywppung, Ujwuuhlyjwl,
Upd dwingnty 20 U hnpts nndtn, Swdnnhd
puuwidhnh duingnud pund 20 funppuihts hanth 223 238,2|<< wwnulw pnist 223 238, 2| unmubugkl
ytipwunpngntd Eniqunun,
Gpwufuwhniu,
Uwjhujwt, Swpnuhl,
<L pupwdpughtt junwyjwpdwy b wppwlupg 0.0
hpwyhbwlubph bwpiwpwpnipyniy ’
Lwdwjupubipnud hwywywpyuwihu Yuwjwuubph Shuwtuwynpdw wy
96
wnbnwnpnu (UYuwhé. Uplwnwow, “Gwpwnphl) 500000 0.0 wnpynpubin 0,0
Puqupwt U bpwlnwown hwiwjuplbipnud 4 :‘ u*“li““‘“‘““ ptljmﬂh‘ <«
wnwywnnijw
hwlywlwplywwhu Yuwywuubph dtnppbipnid b 16 000,0 21.05.2015p. N 566-U 16 000,0
nbnwlwynid npnonud
4 hwlwywnpyunwhu Ywywuubph denppbipnid b 16 000, 0| Uwuiuwgnp ubpnpnnutn
nbnwlwynid
Cunwdbup® wy wnpynipitin 130 000,0 0,0 0,0 0,0
Nuybhwwn hwdwjupnid gyninwnuntiuntjwu
97 [qupqugiwu hwdwp dwupbwpwuwywu 618 000,0 618 000,0 30 000,0 90 000, 0 |Vwutwynp ubipnpnnutin -528 000,0|wywpwn’ 2016
hwdwhph Ywnnignud
Updwyhph dwngnud pyny 2
98 Uwut ubi ub -
dbipbuwwnpwlunpwihu Yuwjwuubph unbndnid 800 000.0 800 000,0 wutiwynp utipnpnnutin 800 000,0
Updwyhph dwpgnu 30 hw gtipdngwjhu
99 Uwut ubi ub -8 1
nunbunipjwl Ywnnignd («Ipptihwnig» UML) 8100 000,0 8100 000,0 wutiudnn Uprnnitn 8100 000,0
Updwyhph dwpgh Swudnun b Upquywun
100 hwdwjupubtiph qupswywu tnwpwdpnid gunuynn 100 000,0 100 000,0 Uwutwynp ubpnpnnutin -100 000,0
[dujht tnwpwdpnud opwidpwnh Ywnnignid
(12dju.v®)
Ywuwun hwdwjupnid nnngiwu Ywphjwihu
101 [hwdwlwpgh utipnpnud («Lnjwu» gnpdwpwy), 370 800,0 370 800,0 200 000,0 700 000,00 |Vwutwynp ubipnpnnutin 329 200,0
200hw g.Pwgwpwuntd)
Uyuwihé, Uwjhujwt hwdwjupubipnid nnngdw
102 [Ywphiwihu hwdwywpgh ubpnpnd (2ntpg 120hw 94 760,0 94 760,0 Uwutwynp ubipnpnnutin -94 760,0
nwpwdp)
CLunwdbup® Jwutiwynp ubpppnn 10 083 560,0| 10083 560,0 230 000,0 806 000,0 -9 277 560,0




Uwpgh hwdwjupubipnud hpwywuwgynn

103 57 550,0 57 550,0 19 450,3 69 815,5|<wdwjupwjhu pnigh 12 265,5
ninpuwht dpuignbip
Cunwdbup' hwdwyupwiht pjnigh 57 550,0 57 550,0 19 450,3 69 815,5 12 265,5
Cunwdbkup® qyninwntnbunip)ni 11 626 239,0| 11 496 239,0 249 450,3 1412 906,7 -10 083 332,3
ALUNULNULNRGE3NRL 0,0
«Upgbinguwwpluwihu hwdwihp» MNUY-h
wuonphuntjwu ubippn gunuynn PLM tnwpwdputiph
wwhwwuniejwu, ghnwlywu
104 nwnwiuwuhpnujntuttph, wunwnnbnbuwlw 9514,4 9514,4 0,0 12 179,4|<< whnwlwu pjnigh 2 665,0|wywpuyby £
wofuwwnwupubph Ywwnwpdwu dwnwjnijniuubin
(«Npnwt Yupdhp» whnwlwu wpgbwywin»
«Lulybpnipyniuubiph Ynndhg yéwpynn
puwwwhwwuwlwu Ydwpubph uywwnwlwihu
<< hwdwawyu
05 [0HNWGNNSIWY duiuhlis << onGilph. huiduiduwy 72441 7 2441 241,2 7 244,1|<< wnwyut prigh 0,0 wiuwnunyty £
puwwwhwywuwywu dpwagnptiph hpwlwuwgdwu
hwdwp Ukdwdnp hwdwjupht unipybughwutiph
npwdwnpnwd
Cunwdbup' whnwlwl pjnigh 16 758,5 16 758,5 241,2 19 423,5 2 665,0
106 fayny 5 wnpwywyptiph qupguwgdwu dpwagph 10 000,0 0.0 0.0 Shuwtuwynpdw wy 0.0
dowynid wnpjniputin
Cunwdbkup® wy) wnpjnipubp 10 000,0 0,0 0,0 0,0 0,0
107 Uwpgh hwdwjupubipnud hpwywuwgynn 26 500,0 26 500,0 1624,4 10 150,5|<wdwjupwihu pjnigk -16 349,5
ninnnwihu dnwankn
Cunwdbkup' hwdwjupwjhu pynigh 26 500,0 26 500,0 1624.,4 10 150,5 -16 349,5
Cunwdbkup' puwwywhwywunipyniu 53 258,5 43 258,5 1 865,6 29 574,0 -13 684,5
2PNUUCr2ANKRE3NRL
M» PPL-nwi h h tndnud
10g | PREUL huidinbuh puihinh uinkndn. 300 000,0/ 300 000,0 300 000,0|Uwitwnp Ubprpnnutn 0,0 wwpunyti &
(g.LbGuntnh)
Uwhdwuwdbipd Pwgqupwu hwdwjuph Cnipwuhy
109 1 Uwuu ub ub -1
biytintignt Jbpuwlwugunid (10nwn) 100 000,0 00 000,0 wubwynn ubipnpnnutin 00 000,0
Updwyhp pwnwpnid ppnunwgnpdniejwu
YGuinpnuh untindnud (gnigwupwh, ggnuwpowihu
110 10 600,0 10 600,0 5 000,0 5 000,0|Vwutwynp ubpnpnnubin -5 600,0
hjnippulywdwu ugwpwuubp, nwpwdph
pwpbilwngnid)
" p.Eodhwdunud nGunnpwuw-hjnipwiungwihu 154 500.0 154 500.0 T T —— 1154 500,0

hwdwihph, pnptisutinh Ywnnignud
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CLunwdbup® Jwutiwynp ubpppnn 565 100,0 565 100,0 5 000,0 305 000,0 -260 100,0
Cunwdbup' qpnuwponip)niu 565 100,0 565 100,0 5 000,0 305 000,0 -260 100,0
LU1uULUThLNRI3NRL
<< wpnuwpwnunpnypywl Gwiwpwpniniy 0,0
u hhdu
1z |<Undwdhr> tinp pbulunuipniwul hhduwpbh 1950 000,0 1219 362,5 1 950 000,0<< whnuwlui pigh 0,0|wiwnund £
Yunnignud
<< wuppuwianypyut twpiwpwpnigyni 0,0
113 [2npwupwpwynid puwlbih otuph Yipwunpngnud 108 712,2 108 712,2]|<< whnwlw pyniok 0,0
14 2npwupwpwynud puwytith otuph yepwunpngdwu 70 000,0 70 000,0|<< whinwlu pyigh 0.0
[nwgnighs wfuwwnwupubip
Cunwdtup® whnwlywl pjnigk 0,0 2128 712,2 1219 362,5 2332 377,8 203 665,6
<< Updwyhph dwpqubunwpwi
Updwyhp pwnwpuwjhtu hwdwjupnid Punpudjwu
Shuwu dwu
115 |9/2 hwugbinuf quntignn whwywpwn 10 000,0 0,0 wrwwmn‘;”;ﬁ”“ H L 0,0
pwquiwpuwlwpwu gkuph wywpunnud
PAd spwghp (bnp hwypbip)
g.Lbunwinnt pwundwu Gupwlw Ypwpwihu
2bupbiph puwlhsubiph puwywpwuwht fuunhputiph << whnwlut pngt’ 6-nn
(nSdwl dpwghp (4-pn thnnngh phy 2 JRwpwihu hnwnww Spwghp' <<
116 |pwquiwpuwlwpwu  puwybih obuph 7 195 000,0 0,0 49 086,0|Ywnwywpnipjuu 49 086,0
punwuppubiph puwlwpwiwiht wwywhnydwu 02.07.2015p. N 766-L
uywwnwyny whnwlwu wowlygnipjwu npnnud
wnpwdwnpnid)
PuwYwpwuh Ywphp niutignn thwiuunwywuutiph Shuwt St
117 {hwdwp PSU-h dhengny plwlwpwlwght 100 000,0 0,0 iUl wy 0,0
wnpjnipubin
wwwhnynipjwu dpwghp
g.Uwjhujwuh hpnthywsd puwytih Guph € s pigh’ 6.1,
puwyhsubiph puwywpwuwhu fuunhpubiph nédwu hpwinuwiy Spughn’ <<
g [Snwahp (hpnbhdwd puwybih obuph 4 90 000,0 0,0 26 664,0|ywnwlwpnipyut 26 664,0
puwnwuhputiph puwlwpwuwhts wwwhnydw 02.07.2015p. N 766-U
uwwwnwyny whnwlwu wowlygnipjwu npnonud
mmnuulinnnnol)
Ungqwown hwiiwjlph puwyhs Upnin Uwnytiuh << wlnuiuil pnigt” 6-nn
Znyhwlthujwth wunwhnndhg putinuwd hpwuiy Spwghn” <&
19 200,0|ywnwywpnipjwu 200,0

puwytifh wwu wwuhph YyEpwunpngidwt hwdwnp
whnwywu wowygnipjwu gnigwpbkipnid

02.07.2015p. N 766-L
npnantd




Chuhyh hwdwjuph puwyhs Twuwn Ywghph

L whnwlwu pngk’ 6-pny
hpwwnwy dpwghp' <&

120 |Uinjuuh wypqwé puwytith tnwu Ytpwunpngdwu 650,0|Ywnwywnniejwu 650,0
hwdwp whnwlwu wowlgnipjwt gnigwpbipnud 02.07.2015p. N 766-L
npnantd
Puquuwptwlwpwt puwlbih y6upbph 0.0
wdpwgmd-yGpwlwuqunid (bnp hwypbip) '
121 p.Eodhwéhu, Up.Ynunwuywuh 1 puwltih okup 65 000,0 0.0 Shuwtuwynpdwt wy) 0.0
wdpwgntd wnpjniputip
122 |R-Updwihp, Gpluwtyw 38U puwytih otup 91 050.0 0.0 dhuwtuwynpdwt wy 0.0
uuiniany ' ! wnnininutin '
123 [2-Undwdhp, Punpuidjuwt 7 puwybih otuph 100 000.0 00 Shuwtuwynpdw wy| 00
puinannt ! ' wnpjninutin !
124 |R-Updwyhp, Fwunpwdjwu 9 puwytih okuph 76 500.0 0.0 Shuwtuwynpdwt wy| 00
wulniannt ! ! wnoininutin !
. dwu
125 |#Vwuthuuh pyny 9 Ypwpuwiht 2kuptinh 90 000,0 0.0 htwuuwynpdwt wy| 0.0
wdpwgntd wnpjniputin
g.Uyuwhé, Lwhpjwu pwnwdwuh hy 2 Shuwuuwynpdw wy)
126 7 0,0
tnwhwpy pwqiwptwlywpwu puwyth otuptiph 0000,0 0.0 wnpjniputin
PuwlyPnunph unpngmd (tnp hwypbip) 0,0
Updwyhp pwnwph 119 pwqiwpuwywpwu
obiuptiph wwwuhputiph yGpwunpngnd
127 100 000,0 0,0 41 555,7 41 555,7
(pwquwpuwlwpwu puwlytih 2tuptiph tnwuhputiph
ybpwunpngnd) L& whnwlwu pynek’ 6-pny
dwnwpowwww pwnwph 38 pwqiwpuwlwpwu hpwwnww dpwghp' <<
obiuptiph twuhpubiph ytpwunpngnud Yunwywpnipjwu
128 100 000,0 0,0 33 690,6 33 690,6
(PwqUwptwlwpwt puwytih otupbiph wwuhpubph 02.07.2015p. N 766-U
ytpwunpngnud) npnanut
Utidwdnp pwnwph pwquiwpuwlwpwu otiuptiph
129 [nwuppubiph yGpwunpngnud (pwqiwptwlwpwu 80 000,0 0,0 43 840,0 43 840,0
puwybih 2uptiph tnwuhpubiph yipwunpngnud)
Nwdtin pwdhubiph hbnbwupny hwiwjupubiphu << whnwlw pnigh’ <<
130 [hwugywd Juwuubiph htwmbwupubipp Ybpwgubine unwywpnip)u 0,0
19.11.2015p. N 1361-UL
Uwwwnwyny wowygnipjniu
npnantd
p.touhwdhu 3973 39713
Upwquith 2125,0 2125,0
Lbnuwgng 1525,0 1525,0
Lwpwybpwn 358,0 358,0
Yfuwnp hunpuwljwqdtiph, Yppuwlui,
dwpquljuin b Hywlhnipuyh opjlpypputph 0,0
bwpiwqgdmd (Unp hwyipbin)
131 |q.U h 8h dpwlnud 7.000,0 0,0 Bhitntiuudpduils wi 0,0
g.Uwpqupwih giluwynp hwuinwlwagdh dawynt , , ——— .
Shuwu dwu
132 [g.Upwquihh glfuwynp hwnwwagdh dowlynid 7 000,0 0,0 il wy 0,0

wnpjnipubin
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¢-bpjwunwpwwnh glluwynp hwnwlyuwgdh

Dhuwuuwynpdwu wy|

133 5 000,0 0,0 0,0

dowlinud wnpjnipubip
Dhuwuuwynpdwu wy|

134 g.Pwqwpwuh gjfuwynp hwnwlywgdh dowynid 5 000,0 0,0 —— 0,0
Cunwdbup® wy) wnpynipuibip 1191 550,0 0,0 0,0 0,0 0,0
Undntwy npnpiph wizfuunpuiipup (tnp hwyy) 0,0
fayny 40 hwdwjupubinh pwg giptiquwuwwnubiph

135 Lwdwyy u G
hnntinh oguwgnndUwl ufubtwutiph tpwlnud 10 000,0 0.0 dujpuifits pyeg 0.0
Ui hwdwjupubipnid u

136 | Al hwduwytpttinnud hpuiuitwgynn 124 920,0 124 920,0 25 354,9 108 398, 7 |<wdwjupuiht pnigh -16 521,3
ninpuwjhu dpwgptip
Cunwdbup' hwdwyupwiht pjnigh 134 920,0 124 920,0 25 354,9 108 398,7 -16 521,3
Cunwdbup' pwnwpwhunipjniu 1326 470,0 2 253 632,2 1244 717,4 2440 776,5 187 144,3

tLULUNNh84UTLLEN 0,0
suvunurduchunh@3NkL 0,0
Uhswtitnwlywu b hwupwybtinwywu

137 Upwuwynipjwu wywnnbwuwwwnphubiph ddbnwihu 331 300,0|<< whnwluy pnigt 331 300,0|wunungs £
wwhwwunw, pupwghy wwhwywunut L
swhwgnpdnid
<< Updufhph dwpqubpwpwt 0,0
Uwpquiht tpwuwlnipjwu wywnnbwuwwwphubph

138 [adbinwihu ywhwwunul, pupwghy wwhuwwunw W 37 400,0 37 400,0 12 669,0 37 400,0|<< whinwlwu pjnigh 0,0
owhwanpénd
Unwuwitinh bW Pwpwpwnh gninuywu L whwnwlwu pyngl’ <&
hwdwjupubiph dpwug dtipdtih b Lnth Ywppehd Ywnwywpnipjwu

139
rynt Snipubh dhnnngubiph unpnguwu n 5000,0 23.07.2015p. N 826-L 5 000,0
pwpblwpgiwt wofuwwnwupubip npnonud
Cunwdbup' whp.pinigl (ubthwlwi) 37 400,0 37 400,0 12 669,0 373 700,0 336 300,0
Ubbuwlwl ywhwlnipyu 0.0
swhwwwphwguwiugh pwpbjwynid» Juplyugh '
<-292 «Updwyhp-Upgwowwn-Uplhy- thnfuwughty'
Gpwufuwhntu» Swuwwwnhh «Lnpwwwwn- uwuwwnbudws b

140 1 71 L hwyht pwt 289 71
Unqupwin-Uplipl-5nbqunun-Gpuuuwhnis 800 000,0 800 000,0 80 000,0 089 716,9|<wiwpfuwphwihu pwy 89 716,9 wiwnnby
4ud0+000-yd7+800 hwwindwsh hhduwunpngnid 02.06.2016p.
<-292 «Updwyhp-Upguwoawwn-Uplhy-

Gpwufuwhniu» Swuwwwphh «LNpWWww-

141 Lwd hwjhu pwu ]
Upqwowwn-Upuhy-Gntigunun-Gpwufuwhniu» 1002 942,2|<wdwfuwphwihu pwuy 1 002 942,2|wqwpunyti b
4u7+800-Y4u18+795 hwwindwdh hhduwunpngnid

142 LA7-Rwpwybipn 3.7 Yd Gphwpnigjwdp hwinywdh 620 424,7|<wtufuuphuh puty 620 424, 7| wupunds £
ybpwlwugund
Cunwdbup’ wlp.pinigl (Jupluyplr) 800 000,0 800 000,0 80 000,0 2756 582,7 1956 582,7
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Cunwdbup® wEnwlwl pjnigh 837 400,0 837 400,0 92 669,0 3130 282,7 2292 882,7
143 U/6 nbuwh «Shgpwu Ubd» nwqiwlywu 60 000,0 0.0 Shtuwtuwynpuiwt wy| 0.0
Jupdwpwu, dwuywywpdwywu pn)tie wnpynipubin
U-9, U-1-fdwhu-Lwpwybtpw-fenipphwih uwhdwu Shuwtuwynpdw wy)
144 000,0 0,0 0,0
Swuwwwphh hhduwunpngnid 100 ' ’ wnpynipubn
145 S-3-11, Lntwhtu -<-17 dwuwuwjwphh 200 000,0 0.0 Shuwtuwynpdw wy) 0.0
hhduwunpngnd wnpjniputin
S-3-13,Unp Upwnwgbipu-Lwpwurywu-Shnwotu Shuwtuwynpdw wy)
146 000,0 0,0 0,0
Swuwwwphh hhduwunpngnid 150 ' ’ wnpynipubn
S-3-51 (US-Uwpnwpwwww-Lnp Updwyhp-S-3- Shuwuuwynpiwt wy|
147 250 000,0 0,0 0,0
52) -6.6yd Swuwwwphh hhduwunpngnud ' ’ wnpynipubin
U-3-Qnhpnjinny-tunpnup 5.24d Gplwpnipywdp Shuwtuwynpdw wy)
148 300 000,0 0,0 0,0
Swuwwwphh hhduwunpngnid ' ’ wnpynipubin
Cunwdbkup® wy) wnpynipubp 1 060 000,0 0,0 0,0 0,0 0,0
Ui hwdwjupubipnid u
149 | wnah hwduyupbinnud ipuiutwgynn 196 780,0 196 780,0 9371,9 187 027,6|<wdwjtipuht prigh -9 752,4
ninpunwihu dpwgnbin
Uwutwynp ubpnpnn’ Ywjph
Lnywohtu hwdwyupnid wubwmmwwwndwu punipjwu b Jowynipwiht
woluwwnwupubph hpwlwuwgnid 2250,0 wndbplbinh wwhwuwdwl 2250,0
hhduwnpwd
BSM-ubiph Ynunwldwu Ytwnbph pwpbuwynd 43 498, 8|<wdwytuwphwihu puil 43 498, 8|wlwpunyty £
Cunwdbup' hwdwjupwiht pjnigh 196 780,0 196 780,0 9 371,9 187 027,6 -9752,4
CLunwdbup® Swiwwwphwhunip)niu 2 094 180,0 1034 180,0 102 040,9 3 319 560,3 2 285 380,3
hUGLNK QuUUusuuururnhky 64 0.0
2ru<snusnhyU '
Rpuyht ptpbunipyut ypwlwt Yndpiplb 0,0
Lwiwjupwjht Gupwlwnnigywdpwiht dpwghn Jdwpluwht b
IlI-®ny 3-Updwyhp pwnwph Jwnlwhu dhongutin npwdwounphwjht
opwdwwnwwpwpdwu b opwhbnwgdwu (wnwug << hwiwdwjuwgnptphu
150 [hwdwlwpgbiph Ytpwunpngnud, Updwyhp- 602 000,0 602 000,0 0,0]hwdw$huwtuwynpiw) -602 000,0|Yhg wnwushu
Ubkdwinp pwnwpubiph Yanunweph dwppdwu Sbpdwuwlwu qupgugdwu hwiwawjuwghpp
Juywuh b yndwywlywjwuh Ywnnignud, uwppbiph b puity (KFW) unnpwanti &
08.12.2015p.:

uwnowdnnnuiubnh dbno nbnnnd




Swpnuhy hwdwjupp
Upungnlyh KW

pwuyh
wowygnipjudp
hpwlywtwgynn
Lwdwjupwjhu
Huinluht dhonglibn tupwlwnnigwdpubi
Swpnuhy gyninh gpwdwwnwywpwpdwu (unuitig << n 11 3-pn thnyh
151 123 000,0 123 000,0 0,0 [hwdw$huwuuwynpdwi) -123 000,0 )
hwdwywpgh pwpbijwynid U Spwignh dbg:
uhwywu qupgugdwu dwplught L
Pt (ADB) npwdwaunphwihu
hwdwdwjuwgnpbphu
Yhg wnwudhu
hwdwdwjuwghpp
unnpugnb &
08.12.2015p.:
«Luygndninynyninh» ®PL
ulihgpp 2014p.-
670.0dju.npwu:
dwnuwpwwwun hwdwjuph opwdwinwlywpwpdwu Cwdwguwphwiht pwuy <Cwgndminnnuh>
152 rt_ n2 ‘3‘ N 1P 92 nun 457 000,0 457 000,0 699 500,0( . 2% "qn :mhf o 242 500.0|®r0h
pwnbwynud (Qupniuwynipiniu) 1onHntAn) wbintywndniejudp’
ulhqgpp 2013p., huy
wywpup 2015p.:
Lunwdtup’ whp.pinigl (Jupluyptr) 1182 000,0 1182 000,0 0,0 822 727,0 -359 273,0
Cunwdbup' whnwlwl pjnigh 1182 000,0 1182 000,0 0,0 822 727,0 -359 273,0
Ui hwdwjupubipnid u
15 | wnah hwduwjupinnud ipulutwgynn 118 200,0 118 200,0 5127,7 96 910,2| Cwiupuihts pynigh -21289,8
ninpuwihu dpwgnbin
Unpwwwwn, p.Ukdwdnp, Upguowwn
154 [hwdwjuputipnud fudbint opwdwwnwlwpwnpdwu 7 375,7 . 7 375,7
hwdwYwnah pupbwynu Uwutwynp ubipnpnn’ «Lnn
Pq p P | U.l{nl‘Up» PPrL
155 Updwyhp-Lntywoht dwyp opwwnwph Ywnnignid b 1744,7 1744,7
opwswthtiph wbnwnpnu
bbiphy hwdwjuph opwdwwmwlwpwnpdwu Uuhwlwu qupgugdwu uyhgpp U wywpunp
156 26 400,0 26 400,0
hwidwlwpgh pwpbijwydwu woluwwnwuputip puiuy 2015p.
Udptipn hwdwjuph gpwdwwnwwpwpdwu Uuhwlwu qupquigdwt ulyhgpp 2013p.
157 3260,0 2
hwdwYwngh pupbjuydwl woluwnwuplbp Ol pwy 3 260.0| uninp 2015p.
Wabpwwn hwdwjuph opwidwmnmwlwpwnpdwu Uuhwlwu qupgugdwu ulhqgpp 2013p.
158 8 460,0 8 460,0
hwidwlwpgh pwpbijwydwu woluwwnwuputip puiuy wywpunp 2015p.
159 “wown hwdwjuph opwdwnwywpwpdwu 3000,0 Uuhwlwu qupquigdwt 3000,0 ulyhgpp 2013p.

hwdwlwpgh pwpbjwydwu woluwwnwupubip

puwy

wywpunp 2015p.




“nnu hwdwjuph opwidwwnwlwpwpdwu Uuhwlwu qupqugdwu ulhqpp 2013p.
160 6 970,0
hwdwlwpgh pwpbjwydwu woluwwnwupubip " pwiy 6970,0 wywpunp 2015p.
161 LEnuwdbng hwdwjuph opwiwwnwlwpwndwu 610.0 Uuhwlwu qupgugdwu 6100 ulhgpp 2013p.
hwdwlwpgh pwpbjwydwu woluwwnwupubip " pwuy " lwywpunp 2015p.
162 Unwyuwwniu hwdwjuph opwiwwnwlwpwnpdwu 18 770,0 Uuhwlwu qupqugdwu 18 770.0 ulyhqpp 2013p.
hwdwlwpgh pwpbijwydwu woluwwnwuputip puwiuy wywnunp 2015p.
163 hunpnup hwdwjuph opwdwwnwywpwpdwu pwofuhy 6 000.0 Uwutwynp ubipnpnn 6 000.0 ulhgpu nt wwpwnp
guiugh Ywnnignid <Cwjopdninynjninh> PPL 2015p.
<Upwnwdtinh> w/Yy Upnwdbin opwwnwph 3 yd Uwutwynp utipnpnn’ ulhgpu nt wwpwnp
164 49 107,0 49 107,0
Ypwnwiht hwwnywdh thnfuwphuntd <Cwjopdninynjninh> PLL 2015p.
Eouhwdhu pwnwph Ldnkh hwdwjuph (uwfuyhu Vi U . 4haat 4
wutwynp ubpnpnn’ ulhgptu nt wjwnunp
165 [Funqupnidwlwu pwnwdwuh) pwyluhs gwugh 650,0 <Cuggpunintnninfis GAC 650,0 2015p.
Yunnignud
Cunwdbup' Jwutwynp ubpnpnn 118 200,0 118 200,0 5127,7 64 877,4 -53 322,6
Cunwdbup® fudbtnt gpuiwwnmwlwpwpned 1300 200,0 1300 200,0 5127,7 984 514,6 -315 685,4
quU2hShUUSNhU 0,0
166 Unpwwwun hwdwjuph ququbhlugnid 38915 38915
<L whnwlwu pnigk' 6-pn
167 || inuwgng hwiwjuph quiquibhlwgnid 8 210, hpunwy spwghp' << 8210,1
Junwywnnipjwu
chu hwdwju wqwbhljuwgiwu tywwnwyn 02.07.2015p. N 766-L
68 huh juph ququdhlg w Uny 31100,0| e 31100,0
Chuhyh hwdwjupht whEnwywu wowygnipjwu nn2!
gnigwpbipnud
Cunwdbup® whnwlwl pynigh 43 201,6 43 201,6
Lwpwybtpun hwdwjuph pYny 7 pwqiwpuwywnpwu Uwutwynp ubpnpnnutip'
169 00,0 0,0 -8 000,0
obiuptiph ququ$hywgnid 8000,0 80 «Swqupnd Updbuhw» PRL
Cunwdbup' Jwutwynp ubpnpnn 8 000,0 8 000,0 0,0 0,0 -8 000,0
Shuwtuwynpdw wy
170 |fayny 6 hwdwjupubtiph ququdhyuwgnid 720 370,0 0,0 - 0,0
Cunwdbup® wy wnpynipubip 720 370,0 0,0 0,0 0,0
h
7 |Jnah hwdwyuptibpnud ppwuitiugynn 30 500,0 30 500,0 2445 32 411,5|<wdugtpuht gt 19115
ninpuwh dpwignptip
Cunwdbkup' hwdwjupwjhu pynigh 30 500,0 30 500,0 2445 32 411,5 1911,5
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Cunwdbup' ququiwwnwlwpwpnud

758 870,0

38 500,0

2445

75 613,1

37 113,1

Eubpgbunplw

0,0

172

Updwyhpp dwpgh fEYunpwdwnwlywpwpdwu
hnwwhnigyniup pwpdpwgubnt uwwwnwyny
ubipnpnudubip (onwiht, dwintfuwihu gétiph
Yunnigdwtu/JEpwywnnigdwu, YyEpwunpngiw,
Gupwlwjwuubph unpnquwu, hhu
npwuudnpdwinnpubinp unpbipny thnfuwphubnt, unp
pwdwunpnubiph gwughtu dhwuwiniu ninnywd

P BTN P B

300 000,0

300 000,0

509 068,2

Uwutwynp ubpnpnnutp'
«lwjwunwuh biEYunpulywu
gunghp» PPRL

209 068,2

173

PPL-h hwaybilygnnud gnuynn b gnpdnn 220/110y4
0%-tiph Ypw Ywwnwpynn wofuwwmwupubip (110yy
«Eouhwdhu»0%-h phy 15-68 enhspubinnud
wdypnwwwwowndwl, 110 Yy «Bjnin, Rouh» 1104y
dtynwuhsutiph thnfjudwu U pwgwwjnn Gnwwuutiph
dnuinwdwihtu wofuwwmwuputin, 2204y «Untuwtiny,
«UhlhuJU», «Uphq.»,ﬂOHL{«UUnLZ», «tQLjhuJéhn», «pQUh»,
«Swhnwjjwu-1,2», «Ptipignujw» 0F-ph-686 hwwn+30
ownwu LY dtynwhgubiph thnfunwd, depwyubiph
utindwlutiph nidtinugnid oniunbint dbpnnny-16 hwwn,
hwnnpnwiwph thnfunw-0,076w, wulyniuwyutiph
nbnwnpnid-0,24un.)

800,0

800,0

53 639,6

Uwuuwynp ubipnpnnutip'
«Pwpépwynpun bEyunpwywu
guugbin» PPL

52 839,6

Cunwdbkup' dwutiwynp ubipppnn

300 800,0

300 800,0

0,0

562 707,8

261 907,8

174

Uwpgh hwdwjupubpnud hpwywuwgynn
ninpunwihu dpwgnbin

47 700,0

47 700,0

11 319,8

28322,8

Lwdwjupwihu pjnioki

-19 377,2

Cunwdbkup' hwdwjupwjhu pynigh

47 700,0

47 700,0

11 319,8

28 322,8

-19 377,2

Cunwdbkup' Lubkpgbnplw

348 500,0

348 500,0

11 319,8

591 030,6

242 530,6

Cunwdbup' bupwlwnniguéputip

4 501 750,0

2721 380,0

118 732,9

4 970 718,7

2 249 338,7

ursuuure prudhsuyuerhs
ALUUANNMGBUL b4 SUruoLLErh
MUCSNULNRE3NRL

0,0

175

<< Updunfiph duingh ubgudhly nhulh
quwhwwndwu pwpwnbigh Yugdnid

12 000,0

0,0

Dhuwtuwynpdw wy
wnpjnipubn

0,0

176

<< Updwyhph dwpgh Updwyhp hwdwjupnud
wnbnulwyyws dwpquihu wwhbuwnwihu
Ywnwywnpdwu Ykwh hhduwunpngnid

25 000,0

0,0

Shuwuuwynpdwu wyy
wnpjnipubn

0,0

177

<< Updwyhph dwpgh pwnwpwghwlw
wwanwwuntgjwi ywonwwuwywu Ywnnygubiph
hhduwunpngnwd

50 000,0

0,0

Dhuwuuwynpdw wy
wnpjnipubn

0,0

Cunwdbup® wyp wnpynipbip

87 000,0

0,0

0,0

0,0

0,0

Cunwdbkup' Ub

87 000,0

0,0

0,0

0,0

0,0

LLAUUGLE' 2015p. Swpblul

24 371 878,90

19 991 381,30

1959 119,80

11 066 555,9

-8 924 825,4
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